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öc

ht
e

ge
rn

ei
n

ge
su

nd
es

Fr
üh

st
üc
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”
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lli
g

zu

ve
rs

ch
w

in
de

n.

W
as

er
ni

ch
t

be
m

er
kt

is
t,

da
ss

ih
r

ih
m

sc
ho

n
au

f
de

n

F
er

se
n

se
id

.

•
S

ch
au

t
im

B
us

fa
hr

pl
an

de
r

Li
ni

e
89

na
ch

,
w

an
n

er
vo

ra
us

si
ch

tli
ch

in
de

rM
oz

ar
ts

tr
aß

e
an

ko
m

m
t?

•
W

el
ch

en
Fa

hr
sc

he
in

ha
te

r
ge

ka
uf

t?

L
ös

un
g

fü
r

A
05

4

•
D

ie
O

rg
el

be
st

eh
ta

us
17

O
rg

el
pf

ei
fe

n.

•
B

ac
h

hä
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äu
de

.W
ie

vi
el

e
vi

er
ec

ki
ge

F
en

st
er

se
ht

ih
r?

•
S

ch
ät

zt
zu

er
st

un
d

zä
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rü

hl
54

.

•
D

or
t

st
eh

t
au

f
de

r
T

he
ke

ei
n

S
äc
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hö
rt

en
un

te
ra

n-

de
re

m
G

ot
tfr

ie
d

W
ilh

el
m

Le
ib

ni
z

un
d

R
ic

ha
rd

W
ag

ne
r.

B
ei

de
ha

tte
n

es
al

so
ni

ch
tw

ei
tv

on
de

r
S

ch
ul

e
zu

r
K

ir-

ch
e.

A
be

r
w

ie
w

ei
t

is
t

de
nn

ei
ge

nt
lic

h
di

e
A

lte
N

ik
ol

ai
-

sc
hu

le
vo

n
de

r
N

ik
ol

ai
ki

rc
he

en
tfe

rn
t?

•
S

ch
re

ite
t

de
n

W
eg

ab
un

d
zä
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